Math 4460
Test 2 Practice Tests

Practice Test #1
HW 4 — #1(a) and #7(c) and #6(f)
HW 5 —#1 and #4

HW 5 - #8
HW 3 —2(b) <-- Similar ones to try are HW 3 - #1(c), 1(d)
HW 4 -13 <-- Similar one to try is HW 4 - #14

Practice Test #2

HW 4 — #1(b) and #4(d)

HW 5—#2 and #5

HW 5 - #9

HW 5 - #11

HW 4 - #2(d) <-- Similar ones to try are HW 4 - #2(e) or #2(a,b,c)

Practice Test #3

HW 4 — #6(c) and #7(f)

HW 4 —#5(c) and #3  <-- For problem 3, it wouldn’t be ten from all four sets, just a few
HW 5 — #3 and #7

HW 3 - #4(a) <-- Kind of similar one to try is HW 3 - #5

HW 5 - #12 <-- Similar one to try is HW 5 - #13




